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Four possible answers A, B, C and D to each question are given. The choice which you think is correct,
fill that circle in front ofthat question with Marker or Pen ink in the answer-book. Cutting or f'l]mq

Note :

two or more circles will result in zero mark in that question.

D C B A Questions / =iy #7
e et —ab+ DRl + B | 1
az+b2 a-b azvab+b2 a+b i 2#3 2 '}2
HCFofa +b and a” —ab+ b° is ---
(1,10 (0,0) (1,0) 0,1) e y) Inx,00=00,y)/1) T
. ’ ’ ’ If (x,0)=(0,y) then(x,y)is:
B B 7 e W ERSVACI-Y
Non-concurrent | Concurrent Equal Parallel Medians of a triangle are :
Lfd’yuféf)J._-fd_/szugé_bJLw 4
Lol 2:1 3:1 4:1 The medians of a triangle cut each Vi
other in the ratio ---- :
LA LA BA S BA The : wi.n___wrﬁug,uu:‘:"éwf )
Concurrent } Non-concurrent § Non-collinear Collinear bisectors of the angles of a triangle are ---:
- -1 =2 1 0 6
:ci_/,b:X:’X-i-!: }z{ i|;,
r2 2} {2 0} {0 2] {2 2] ¢ 1] 191
-1 -2 1 ¢
LO 2 0 2 2 2.1| 2 OJ If,‘(+[ }:I: }thcn)(isequalto:
0 -1 G 1
* 7
log » = log ()
logq—logp | logp+loggq Toza logp-logq 9
[
&g The value of log(-}z) iSeeemn |
q
. Y AT 9. _ _ 8
Gr=1),0x +2)) (x=1,Cx =D (c+1D,0Gx+2) (x+1),03x-2) eGP e 7L 307 - x -2
Factors of 3x” —x —2 are--- :
(-1,-1) {U.I] (1,0) (1,1) ;..&ﬁdy»((Z,Z)»l(0,0)wi §
‘ ] - Mid-point of the points (0, 0) and (2, 2) is :
FalY . ~ — C‘._dﬁdt’;"--u--ﬁf‘u"éj- ZJ e 10
— Symbol used for congruent is ---—- !
4 3 1 2 e KL 0| 1
A ray has ---- end points :
2 2 |12
vﬁ? %/4_3 \f4_3 342 Write 43 with : éu:pﬁus.j.}kﬂ(43
radical sign :
s el It A e S G P s | 13
il 1AL £y = L v O :_xuéu’u**"f-
S peridag Uneaual Equal Same Triangles on equal basgs and of U
neq 4 equal altitudes are ---- in area :
~2h ~2a 2b 2a LIS ST {_,,,ML_L 14
B it a2 _he a2 2t b2 a-b a+b a-b a+b
cqual to : .
x> 10 x <10 x<10 x>8 - Inafy e 10282 S| B
If x is no larger than 10, then -—--- :
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12 2. Write short answers to any SIX (6) questions : . o AR AL oy (6){:.6/ 2
(1) Define identity matrix. oy e @

(ii) Find the productof [x ¥ ][ *211 _é(,h’up‘kpdﬁb'[x y ]]: fl:‘ G1)
(ii1) Define irrational numbers. -é\_éf Y S 2 (i)
Gv) Simplify : 432 2 é A (iv)

(v) Define scientific notation. -254 5 S, ﬁ S5 WD)

n=%% nir=15 .?érﬁ”M;'JA?nA=nr2 S (i)

(vi) If 4=m" findA,whennz%z- and r =15

_ér:t"‘:.w:’:gfab?ﬁ a—b=7 sa+b=5 1 (viD)
(vi)) If a+b=5anda-b= V17 , then find the value of ab
(viii) Factorize : 64x° + 343y L 267 (viid)
-Ltg‘l;‘/r‘:'gg x-3 9% ~6x+2 .,ae’é(:l”dnl,c’.fqu-LJ’/‘ (ix)

(ix) Find the remainder when 9x> —6x + 2 is divided by x -3
12 3. Write short answers to any SIX (6) questions : 24 ST 4 /z" L =iy (6)1;’:.6:( 3

(i) Define L.C.M. oS s @
(i) Solve forx : |3x-5|=4 e ap Foablednss D
(iii) Solve the equation : 32{ Wl ; 4 %3 : Z-f g aisbéxd s (D)

(iv) " Determine the quadrant of - B Q(=5,-2) s P(—4 ,3) 8z (V)
the coordinate plane in which the points P (-4,3)andQ( —5,-2) lie.
(g Ltnb7L 4.@_.51)' Yx=-6/ fu;,uk@'..)u v)

(v) Draw the graph of the following x=-6 ( graph is page size )
| et Bl B LvE e B(-1,1) #A(2,5) s (vi)
(vi) Find the mid-point of the line segment joining A (2,5 ) and B (~1,1)

(vii) Find the distance between the following pair of points : : é (!‘” i »Lm}”iz,) (vii)
A(23_6),B(3)_6)

_affpbv‘u_,)w‘!ugsuégLur?ns’wo" ,_,,u,ggwuw;».gﬁ (viii)

(viii) One angle of a parallelogram is 130°. Find the measures of its remaining angles.
(i) Find the value of unknown for ¢ & # s o m P s (0
A

the given congruent triangles :
(5>L+5)0

55°

L

(Eiﬁﬁ.ﬂ) LM 9 ' B{g' 51’]‘:——3 D 21"(14‘6




(2)

12 4. Write short answers to any SIX (6) questions : &ga:.«w‘f AL =y (6){:.6:( 4

(1) Define bisector of line segment. S Sanl e (1)

~3 v 2 5 5" P a - s
?J ny dpJé" AL lFundem o 3 cm uquaubng;L&,,l)‘u;mf 1 Gi)
(i1) If3 cm and 4 cm are lengths of two sides of right angle triangle, then what should be

the third length of the triangle?
(iii) Define congruent triangles. gy ek (iD
(1v) State Pythagoras theorem. _2;: ek 8 L (iV)
(v) Find the unknown value (x) in the following figure ; @ ép‘”a{"Jx L:»Jydjg;p )

6 cm 10cm
(v1) Define triangular region. - _,ébéf X J JU&G‘& (v1)
(vii) Find area of : L. 3cm c gk 3 (vid)
(viil) Define orthocentre of a triangle. ° Cm.éf_:..é_l PEC P8 VATl e ds (vidd)
(1x) Define circumcentre of a triangle. -2:§ i /7 v ol ads (i)

( PART -1 (3242 )
Note : Attempt THREE questicns in all. ..q.d)ﬂ 9 /dlr'ug _éayt££¢01rd J O
But question No.9 is Compulsory.

4 5. (a) Solve by the matrix inversion method : S S esadu LUy (D) 5

2x + y =3

6x + Sy =1

y Na+b b b+c RN AL ' ‘
4 (b) Show that : %) X ic- x (x_a =] D St ()
X ) X L X
4 6. (a) Use log table to find the value of : 2 .’:‘....f(:""’l.:‘fc;ud/&(zjﬂ ()) .6
(8.97)° x(3.95)?

31537

4 ...’-f_’z-/f‘}”s.:»:’:u'/xy+yz+zx In x2+y2+22=64 31 x+y+z=12/! £ e
(b) If x+y+z=12 and x? + y* + 2% = 64, then find the value of xy + yz + zx

4 7. (a) Factorize : (x? —4x) (x* - 4x - 1) - 20 cEggs (O T
4 (b) Use division method to find the square root é(:b"d/’u»r‘:ﬂ 2x (o)

of the expression :
4x* +12x° + xP ~12x + 4

4 8. (a) Solve the equation : 2 :2-——5—,(x¢~—5»] s g Plfen- () 8
2x+5 3 4x+10 2 '

4 (b) Construct APQR and g @’r(ﬁ,w'ﬂ)»f Ll wet: PQR &b (L)

draw its altitudes : __ -
mPQ =45cm , mQR =3.9cm and mZR = 45°

8 i sk s L1538 s B g L5 38 B 9
9. Any point on the right bisector of a line segment is equidistant from its end point.

OR L
_d’un'/.l,; uﬁ.}'.«-uu;/:{i,{@@;l»fé_ﬁt?ﬁ u’ﬂ&’

Triangles on equal bases and of equal altitudes are equal in area.
175-018-1-(Essay Type)-143000
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Note : Four possible answers A, B, C and D to each question are given. The choice which you think is correct,

fill that circle in front of that question with Marker or Pen ink in the answer-book. Cutting or filling
two or more circles will result in zero mark in that question,

D ¢ B A Questions / =iy Py
x>10 x <10 x<10 x>8 e TnaSre 10edf St |
If x is no larger than 10, then-—-- :
e § =13 (0.1) (1,0) 1513 c_....-.b.ddv»((2 2)}5!(00)1:&! 2
) Mld-pomt of the points { 0, 0 Yand (2,2 }is :
~ B = 1 :.g...vwd’d |3
- Notation used for congruent is :
. [ jooo 2 4
a+! a-1 t(a-1) | *(a+l) 7 ?’J’”ﬂa paxl
The square root of a“ ~2a +1 is----:
_}R‘:‘ u'“f\zile“s u&é‘ony JﬁJbL‘ M‘éa@fi :‘;“--—-ﬁ)(j:'&/f :
GommpEx A negative A rational Positive Every real number is :
number intgger number integer e

_ . » Aol
i | JaadE | a-vp | LoAyE s iV Uik

Conjugate of surd a +\/3 i§ - ¢
e S S fps i |
Bisection means to divide into equal parts:

4 3 | 2 :UJan./EfLCW..Q 8

A ray has ---- end points

[
.
[
i

2 1 9
e KL 1]
2-by-3}12-by-1|1-by-2]|3-by-2
13 2
2 1
Order of transpose of [0 1} is:
v I I 1 e SBLR(2, -3 | 0
Point ( 2 , - 3 ) lies in quadrant :
St | R1E F L e deifer |1
None of these cm m kg The unit of ratio is :
248 13 7 S e ey || o | 12
Un-equal Parallel Equal Congruent | Notation || means :
. ' ) The right bisectors of the three sides of a
Parallel Concurrent Collinear Congruent | triangle are ---- :

L,Cﬂ/Jl{x +4r+m£’_ﬁ¢f/ | 14

16 4 -8 8 Find ‘m’ so that x° +4x +m isa ik
complete square :
(ex2.718) - =lge | 13
1 o0 (0.4343 foge = -, where (e =2.718)

[76-0T8-T1-(Objective Type)-27000 G199 4,414 _ ?
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(PART -Is.2)
12 2. Write short answers to any SIX (6) questions : of ez A L ey (6).{C.Jf 2

(1) Define transpose of matrix. S P 55 LS @)
(i1) Find additive inverse of the matrices : I:\/j é_jf 2k U S G
T B’

(i11) Define multiplicative identity. Sy /.’. d 4 aijL}ﬂ (iii)
(iv) Simplify : 52 5 (52 - 2 (v
(v) Find the value of x , when : loggs 8 =-;£ ,ﬁé(:"’ =ddx (W)
(vi) Define logarithm. 2 (‘? &9 (vi)
(vil) Simplify : el 4"2_ 2% C 24 (vil)

o N P
(viil) Rationalize the denominator of YR -é—b.db 57 Fuk eV (viii)

(1x) What is meant by remainder theorem? el e (GX)
12 3. Write short answers to any SIX (6) questions : & =iz & £ =iy (6)'{4:..6.9( :
B a0 —ax =12 P e ser6 UMEE

(i) Find H.C.F. of the polynomials by factorization : x*+5x+6 , % —4x—12

w

(i1) Solve the equation : Br+d =2 D ESSen (D)
(i11) Find the solution set of : |3x—~5|=4 3 i-;’:’"’ S GiD
(1v) Define Cartesian plane. uéh—éj /‘7 Jdﬁ-’ zj"r.f{ (v)

3-2xby =0 ZeUt e nmm oLl Ut y=mx+ceble (V)
(v} Find the value of m and ¢ of the line expressing it in the form y=mx+¢,3-2x+y=0

(v1) Find the distance between pair of points : :épl’" Sl s LUtz be (Vi)
A(0,0),B(0,-5) .
(vi1) Find the mid-point between the pair of points : & 2 Bzl (viD)
A{—4:9)s B ~4y~3)
(viil) What is meant by the congruency of triangles? P e elied ufﬂ (viii)

-Zf_{f}*x,_{,»wdugﬂ;@géul?n ¥130° ,;u,{a&’amwwu‘n{rf F3ax)
- (ix) One angle of a parallelogram is 130°. Find the measures of its remaining angles.
12 4. Write short answers to any SIX (6) questions : o cAlz A L iy (6) < 4
SO e A L ek un 4 om o 3 et e L el _szw s S (@)

(1) If3 cm and 4 cm are lengths of two sides of a right angle triangle, then what should be
the third length of the triangle?

(i1} Define bisector of an angle. _Zf_{ - /“." J bl s (i)
(i) Define proportion. oyl i

(21&15) M.. ?. p - !3

| B |




(2)
4. (iv) State converse to Pythagoras theorem. AT t':g.f’/Jg (v) 4

_.;.ﬂsl)l,}ﬁ'ulr-,fél}'ﬁwa =15cm,b=2cm,c=25cm JGUStwnl el (V)
(v) Verify that the triangle having the measures of sides a=1.5 cm, b=2cm,c=25cm
are right-angled.

(vi) Define rectangular region. S ,}';&/ (vi)
(vil) Find the area of the figure : - Y i ép‘” JKF (viD)
(viii) Define incentre. 6 em 2y AT pdes (viid)

mAB = 32cm , mBC = 42cm_, mCA=52cm iU &k AABC  (iX)
(ix) Construct a AABC in which : mdB=32em , mBC =42cm , mCA=52¢cm

( PART -l ¢ )

Note : Attempt THREE questions in all. -y 9 # lec)’g _J...wé..,myw J
But question No.9 is Compulsory.
4 5. (a) Solve with the help of Cramer’s rule : égfc...ud/u;’b L// (%) .5
: 2x+ y =3
6x + Sy =1
20 2m 2n
. - a a a . - 5
4 (b) Simplify : {a“’"} [a””'"} [a"”} CEEA (L)
4 6. (a) Use log table to find the value of : ; Z’;r)”:..fc_.u‘_}/ds,\g(?;%’ (h) 6
0.678 x9.01
0.0234
4 _ _:{_’-’(}*’_-;EJx%ﬁ yn xy =12 /:Ix+yx7;l ()
(b) If x+y=7 and xy =12, then find the value of x° + y3
4 ?@f(?u;u;:(p(x) = 4x> — Tx* + 6x - 3m (?;,.-ff x4+2 4.£¢Q.J/Jmféﬂl”' Cx)y <1

7 (a) Forwhat value of m is the polynomial p(x) = 4x° ~7x% +6x—3m exactly
divisible by x +2 2
4 (b) Simplify to the lowest form : 2 A ag il (&)
2% +Ty-4 _ 4yt-1
32 —13y+4 6y7+y—1

4 8. (a) Find the solution set of the equation : ; é(:ly erShats (9) 8
L YR Y,
3x-6 x -2
4 (b) Construct AABC. Draw g el Ll -2 LAABC (o)

perpendicular bisectors of its sides
mZA=120°, mAC =32¢cm , mAB = 2.4cm

8 BB L L s St 9
9. Prove that the right bisectors of the sides of a triangle are concurrent.
OR

L
Jg,ir/i/u*,.ﬂzequ’/!/CG;i»l:_.xb Lu’gﬂs’&tfé:«:t‘

Prove that triangles on equal bases and of equal altitudes are equal in area.
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